

# ON SUBORDINATIONS FOR CERTAIN ANALYTIC FUNCTIONS ASSOCIATED WITH THE DZIOK-SRIVASTAVA LINEAR OPERATOR

Jin-Lin Liu

**Abstract.** By making use of the method of differential subordination, we investigate some interesting properties of certain analytic functions associated with the Dziok-Srivastava linear operator.

## 1. INTRODUCTION

Let  $A(p)$  denote the class of functions of the form

$$(1.1) \quad f(z) = z^p + \sum_{n=p+1}^{\infty} a_n z^n \quad (p \in N = \{1, 2, 3, \dots\}),$$

which are analytic in the open unit disk  $U = \{z: z \in C \text{ and } |z| < 1\}$ . When  $p = 1$ , we denote by  $C$  the class of univalent convex function in  $U$ . Also let the Hadamard product (or convolution)  $(f_1 * f_2)(z)$  of two functions

$$(1.2) \quad f_j(z) = z^p + \sum_{n=p+1}^{\infty} a_{n,j} z^n \in A(p) \quad (j = 1, 2)$$

be given by

$$(1.3) \quad (f_1 * f_2)(z) = z^p + \sum_{n=p+1}^{\infty} a_{n,1} a_{n,2} z^n.$$

Given two functions  $f(z)$  and  $g(z)$ , which are analytic in  $U$ , we say that the function  $g(z)$  is subordinate to  $f(z)$  and write  $g \prec f$ , if there exists a Schwarz

---

Received October 8, 2006, accepted June 23, 2007.

Communicated by Wen-Wei Lin.

2000 *Mathematics Subject Classification*: 30C45.

*Key words and phrases*: Differential subordination, Subordinating factor, Hadamard product (or convolution), The Dziok-Srivastava linear operator.

function  $w(z)$  with  $w(0) = 0$  and  $|w(z)| < 1$  ( $z \in U$ ) such that  $g(z) = f(w(z))$  ( $z \in U$ ). In particular, if  $f(z)$  is univalent in  $U$ , we have the following equivalence

$$(1.4) \quad g(z) \prec f(z) \quad (z \in U) \Leftrightarrow g(0) = f(0) \quad \text{and} \quad g(U) \subset f(U).$$

For each  $A$  and  $B$  such that  $-1 \leq B < A \leq 1$ , we define the function

$$(1.5) \quad h(A, B; z) = \frac{1 + Az}{1 + Bz} \quad (z \in U).$$

It is well known that  $h(A, B; z)$  for  $-1 \leq B \leq 1$  is the conformal map of the unit disk onto the disk symmetrical with respect to the real axis having the center  $(1 - AB)/(1 - B^2)$  and the radius  $(A - B)/(1 - B^2)$ . The boundary circle cuts the real axis at the points  $(1 - A)/(1 - B)$  and  $(1 + A)/(1 + B)$ .

For complex parameters  $\alpha_1, \dots, \alpha_q$  and  $\beta_1, \dots, \beta_s$  ( $\beta_j \neq 0, -1, -2, \dots; j = 1, \dots, s$ ), we define the generalized hypergeometric function  ${}_qF_s(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z)$  by

$$(1.6) \quad {}_qF_s(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z) = \sum_{n=0}^{\infty} \frac{(\alpha_1)_n \cdots (\alpha_q)_n}{(\beta_1)_n \cdots (\beta_s)_n} \frac{z^n}{n!}$$

$$(q \leq s + 1; q, s \in N_0 = N \cup \{0\}; z \in U),$$

where  $(\lambda)_n$  is the Pochhammer symbol defined, in terms of the Gamma function  $\Gamma$ , by

$$(1.7) \quad (\lambda)_n = \frac{\Gamma(\lambda + n)}{\Gamma(\lambda)} = \begin{cases} 1 & (n = 0), \\ \lambda(\lambda + 1) \cdots (\lambda + n - 1) & (n \in N). \end{cases}$$

Corresponding to a function  $h_p(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z)$  defined by

$$(1.8) \quad h_p(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z) = z^p {}_qF_s(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z),$$

we consider a linear operator

$$H_p(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s) : A(p) \rightarrow A(p),$$

defined by the convolution

$$(1.9) \quad H_p(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s)f(z) = h_p(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z) * f(z).$$

we observe that, for a function  $f$  of the form (1.1), we have

$$(1.10) \quad H_p(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s)f(z) = z^p + \sum_{n=p+1}^{\infty} \Gamma_n(p) a_n z^n,$$

where

$$(1.11) \quad \Gamma_n(p) = \frac{(\alpha_1)_{n-p} \cdots (\alpha_q)_{n-p}}{(\beta_1)_{n-p} \cdots (\beta_s)_{n-p} (n-p)!}.$$

For convenience, we write

$$(1.12) \quad H_{p,q,s}(\alpha_1) = H_p(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s).$$

Thus, after some calculations, we have

$$(1.13) \quad z(H_{p,q,s}(\alpha_1)f(z))' = \alpha_1 H_{p,q,s}(\alpha_1 + 1)f(z) - (\alpha_1 - p)H_{p,q,s}(\alpha_1)f(z).$$

It is well known that the linear operator  $H_{p,q,s}(\alpha_1)$  is called the Dziok-Srivastava linear operator. Many interesting subclasses of analytic functions, associated with the Dziok-Srivastava linear operator  $H_{p,q,s}(\alpha_1)$  and its many special cases, were investigated recently by Dziok and Srivastava [2,3,4], Gangadharan et al.[5], Liu [6], Liu and Srivastava [7] and others. In the present sequel to these earlier works, we shall use the method of differential subordination to derive several interesting properties of the Dziok-Srivastava linear operator  $H_{p,q,s}(\alpha_1)$ .

## 2. A THEOREM INVOLVING DIFFERENTIAL SUBORDINATION

**Theorem 1.** *Let  $f(z) \in A(p)$  and let  $F(z)$  be defined by*

$$(2.1) \quad F(z) = [1 - \lambda(1 + \alpha_1 - p)]H_{p,q,s}(\alpha_1)f(z) + \lambda\alpha_1 H_{p,q,s}(\alpha_1 + 1)f(z).$$

*If*

$$(2.2) \quad \frac{(H_{p,q,s}(\alpha_1)f(z))^{(j)}}{z^{p-j}} \prec \frac{p!}{(p-j)!}h(1-2\gamma, -1; z) \quad (z \in U),$$

*then we have*

$$(2.3) \quad \frac{F^{(j)}(z)}{z^{p-j}} \prec \frac{p!(1-\lambda+\lambda p)}{(p-j)!}h(1-2\gamma, -1; z) \quad (|z| < \rho),$$

*where  $0 \leq j \leq p$ ,  $0 \leq \gamma < 1$  and*

$$(2.4) \quad \rho = \left[ 1 + \left( \frac{\lambda}{1-\lambda+\lambda p} \right)^2 \right]^{1/2} - \frac{\lambda}{1-\lambda+\lambda p}.$$

*The bound  $\rho \in (0, 1)$  is best possible.*

*Proof.* From (1.13) and (2.1), we obtain

$$\begin{aligned}
 F^{(j)}(z) &= [1 - \lambda(1 + \alpha_1 - p)](H_{p,q,s}(\alpha_1)f(z))^{(j)} \\
 &\quad + \lambda\alpha_1(H_{p,q,s}(\alpha_1 + 1)f(z))^{(j)} \\
 (2.5) \quad &= (1 - \lambda + \lambda j)(H_{p,q,s}(\alpha_1)f(z))^{(j)} + \lambda z(H_{p,q,s}(\alpha_1)f(z))^{(j+1)}.
 \end{aligned}$$

Consider the function

$$\varphi(z) = (1 - \beta)\frac{z}{1 - z} + \beta\frac{z}{(1 - z)^2} \quad (z \in U),$$

where  $\beta = \lambda/(1 - \lambda + \lambda p) > 0$ . We first show that

$$(2.6) \quad \operatorname{Re} \left\{ \frac{\varphi(\rho z)}{\rho z} \right\} > \frac{1}{2} \quad (z \in U),$$

where  $\rho = (1 + \beta^2)^{1/2} - \beta$ .

Let  $1/(1 - z) = Re^{i\theta}$  and  $|z| = r < 1$ . In view of

$$\cos\theta = \frac{1 + R^2(1 - r)}{2R}, \quad R \geq \frac{1}{1 + r},$$

we have

$$\begin{aligned}
 2\operatorname{Re} \left\{ \frac{\varphi(z)}{z} - \frac{1}{2} \right\} &= 2(1 - \beta)R\cos\theta + 2\beta R^2\cos 2\theta - 1 \\
 &= R^4\beta(1 - r^2)^2 + R^2((1 - \beta)(1 - r^2) - 2\beta r^2) \\
 &\geq R^2[\beta(1 - r)^2 + (1 - \beta)(1 - r^2) - 2\beta r^2] \\
 &= R^2(1 - 2\beta r - r^2) > 0
 \end{aligned}$$

for  $|z| = r < \rho$ , which gives (2.6). Thus the function  $\varphi$  has the integral representation

$$(2.7) \quad \frac{\varphi(\rho z)}{\rho z} = \int_{|x|=1} \frac{d\mu(x)}{1 - xz} \quad (z \in U),$$

where  $\mu(x)$  is a probability measure on  $|x| = 1$ .

Now putting

$$g(z) = \frac{(p - j)!}{p!} \frac{(H_{p,q,s}(\alpha_1)f(z))^{(j)}}{z^{p-j}},$$

we see that  $g(z) = 1 + b_1z + \cdots$  is analytic in  $U$  and it follows from (2.2) that

$$(2.8) \quad \operatorname{Re} g(z) > \gamma \quad (z \in U).$$

Since we can write

$$g(z) + \beta z g'(z) = \left( \frac{\varphi(z)}{z} \right) * g(z),$$

it follows from (2.7) and (2.8) that

$$(2.9) \quad \begin{aligned} \operatorname{Re}\{g(\rho z) + \beta \rho z g'(\rho z)\} &= \operatorname{Re} \left\{ \left( \frac{\varphi(\rho z)}{\rho z} \right) * g(z) \right\} \\ &= \operatorname{Re} \left\{ \int_{|x|=1} g(xz) d\mu(x) \right\} \\ &> \gamma \quad (z \in U). \end{aligned}$$

Note that

$$g(z) + \beta z g'(z) = \frac{(p-j)!}{p!(1-\lambda+\lambda p)} \frac{F^{(j)}(z)}{z^{p-j}}.$$

Hence, from (2.5) and (2.9), we conclude that (2.3) holds.

To show that the bound  $\rho$  is sharp we take  $f(z) \in A(p)$  defined by

$$\frac{(p-j)!}{p!} \frac{(H_{p,q,s}(\alpha_1))^{(j)}}{z^{p-j}} = \gamma + (1-\gamma) \frac{1+z}{1-z}.$$

Noting that

$$\begin{aligned} \frac{(p-j)!}{p!(1-\lambda+\lambda p)} \frac{F^{(j)}(z)}{z^{p-j}} &\Rightarrow \gamma + (1-\gamma) \frac{1+z}{1-z} + \beta(1-\gamma) z \left( \frac{1+z}{1-z} \right)' \\ &\Rightarrow \gamma + (1-\gamma) \frac{1+2\beta z - z^2}{(1-z)^2} = \gamma \end{aligned}$$

for  $z = \rho e^{i\pi}$  the proof is completed.

### 3. A THEOREM INVOLVING SUBORDINATING FACTOR

Let  $q, s \in \mathbb{N}$  and suppose that the parameters  $\alpha_1, \dots, \alpha_q$  and  $\beta_1, \dots, \beta_s$  are positive real numbers. Also let  $0 \leq b \leq 1$  and  $-b \leq a < b$ . We denote by  $V(q, s; a, b)$  the class of functions  $f \in A(1)$  of the form

$$(3.1) \quad f(z) = z - \sum_{n=2}^{\infty} a_n z^n \quad (a_n \geq 0),$$

which also satisfy the following condition

$$(3.2) \quad \alpha_1 \frac{H_{1,q,s}(\alpha_1 + 1)f(z)}{H_{1,q,s}(\alpha_1)f(z)} + 1 - \alpha_1 \prec \frac{1 + az}{1 + bz}.$$

Dziok and Srivastava [2] proved the following result.

**Lemma 1.** ([2]). *A function  $f$  of the form (3.1) belongs to the class  $V(q, s; a, b)$  if and only if*

$$(3.3) \quad \sum_{n=2}^{\infty} ((b+1)n - (a+1))\Gamma_n(1) \leq b - a,$$

where  $\Gamma_n(1)$  is defined by (1.11).

We shall also make use of the following definition and results.

**Definition 1.** (Subordinating Factor Sequence). A sequence  $\{b_n\}_{n=1}^{\infty}$  of complex numbers is called a subordinating factor sequence if for every univalent function  $f(z)$  in  $C$ , we have the subordination given by

$$(3.4) \quad \sum_{n=1}^{\infty} b_n a_n z^n \prec f(z) \quad (z \in U, a_1 = 1).$$

**Lemma 2.** *The sequence  $\{b_n\}_{n=1}^{\infty}$  is a subordinating factor sequence if and only if*

$$(3.5) \quad \operatorname{Re} \left\{ 1 + 2 \sum_{n=1}^{\infty} b_n z^n \right\} > 0 \quad (z \in U).$$

*This lemma due to Wilf [8].*

**Theorem 2.** *Let  $q = s + 1, \alpha_{s+1} = 1$  and  $0 \leq \beta_j \leq \alpha_j$  ( $j = 1, 2, \dots, s$ ). If  $f(z) \in V(q, s; a, b)$ , then*

$$(3.6) \quad \frac{(1 + 2b - a)\Gamma_2(1)}{2[(1 + 2b - a)\Gamma_2(1) + (b - a)]} (f * g)(z) \prec g(z) \quad (z \in U)$$

*for every function  $g(z)$  in  $C$ , and*

$$(3.7) \quad \operatorname{Re} f(z) > -\frac{(1 + 2b - a)\Gamma_2(1) + (b - a)}{(1 + 2b - a)\Gamma_2(1)}.$$

The constant

$$\frac{(1+2b-a)\Gamma_2(1) + (b-a)}{(1+2b-a)\Gamma_2(1)}$$

cannot be replaced by a larger one.

*Proof.* Let  $f(z) \in V(q, s; a, b)$  and suppose that  $g(z) = z + \sum_{n=2}^{\infty} b_n z^n$  be any function in the class  $C$ . Then we readily have

$$\begin{aligned} (3.8) \quad & \frac{(1+2b-a)\Gamma_2(1)}{2[(1+b)\Gamma_2(1) + (b-a)(1+\Gamma_2(1))]} (f * g)(z) \\ &= \frac{(1+2b-a)\Gamma_2(1)}{2[(1+b)\Gamma_2(1) + (b-a)(1+\Gamma_2(1))]} \left( z - \sum_{n=2}^{\infty} a_n b_n z^n \right). \end{aligned}$$

Thus, by Definition 1, the subordination result (3.6) will hold true if

$$(3.9) \quad \left\{ -\frac{(1+2b-a)\Gamma_2(1)}{2[(1+b)\Gamma_2(1) + (b-a)(1+\Gamma_2(1))]} a_n \right\}_{n=1}^{\infty}$$

is a subordinating factor sequence with  $a_1 = 1$ . In view of Lemma 2, this is equivalent to the following inequality

$$(3.10) \quad \operatorname{Re} \left\{ 1 - \sum_{n=1}^{\infty} \frac{(1+2b-a)\Gamma_2(1)}{[(1+b)\Gamma_2(1) + (b-a)(1+\Gamma_2(1))]} a_n z^n \right\} > 0 \quad (z \in U).$$

Under the hypothesis of the theorem, the sequence  $\{(1+2b-a)\Gamma_n(1)\}_{n=2}^{\infty}$  is nondecreasing. Thus we have

$$\begin{aligned} & \operatorname{Re} \left\{ 1 - \sum_{n=1}^{\infty} \frac{(1+2b-a)\Gamma_2(1)}{[(1+b)\Gamma_2(1) + (b-a)(1+\Gamma_2(1))]} a_n z^n \right\} \\ &= \operatorname{Re} \left\{ 1 - \frac{(1+2b-a)\Gamma_2(1)}{[(1+b)\Gamma_2(1) + (b-a)(1+\Gamma_2(1))]} z - \frac{\sum_{n=2}^{\infty} (1+2b-a)\Gamma_2(1) a_n z^n}{[(1+b)\Gamma_2(1) + (b-a)(1+\Gamma_2(1))]} \right\} \\ &\geq 1 - \frac{(1+2b-a)\Gamma_2(1)}{[(1+b)\Gamma_2(1) + (b-a)(1+\Gamma_2(1))]} r - \frac{\sum_{n=2}^{\infty} [(b+1)n - (a+1)] \Gamma_n(1) a_n r^n}{[(1+b)\Gamma_2(1) + (b-a)(1+\Gamma_2(1))]} \\ &> 1 - \frac{(1+2b-a)\Gamma_2(1)}{[(1+b)\Gamma_2(1) + (b-a)(1+\Gamma_2(1))]} r - \frac{b-a}{[(1+b)\Gamma_2(1) + (b-a)(1+\Gamma_2(1))]} r \\ &> 0 \quad (|z| = r < 1), \end{aligned}$$

where we have also made use of the assertion (2.3) of Lemma 1. This proves (3.6).

The inequality (3.7) follows from (3.6) upon setting

$$g(z) = \frac{z}{1-z} = z + \sum_{n=2}^{\infty} z^n \in C.$$

Next we consider the function

$$(3.11) \quad q(z) = z - \frac{b-a}{(1+2b-a)\Gamma_2(1)} z^2,$$

which is a member of the class  $V(q, s; a, b)$ . Then, by using (3.6), we have

$$(3.12) \quad \frac{(1+2b-a)\Gamma_2(1)}{2[(1+b)\Gamma_2(1) + (b-a)(1+\Gamma_2(1))]} q(z) \prec \frac{z}{1-z} \quad (z \in U).$$

It is also easily verified for the function  $q(z)$  defined by (3.11) that

$$\min \left\{ \operatorname{Re} \left( \frac{(1+2b-a)\Gamma_2(1)}{2[(1+b)\Gamma_2(1) + (b-a)(1+\Gamma_2(1))]} q(z) \right) \right\} = -\frac{1}{2} \quad (z \in U),$$

which completes the proof of Theorem 2.

#### ACKNOWLEDGMENT

The present investigation is partly supported by Jiangsu Gaoxiao Natural Science Foundation of People's Republic of China (04KJB110154).

#### REFERENCES

1. A. A. Attiya, On some applications of a subordination theorem, *J. Math. Anal. Appl.*, **311** (2005), 489-494.
2. J. Dziok and H. M. Srivastava, Classes of analytic functions associated with the generalized hypergeometric function, *Appl. Math. Comput.*, **103** (1999), 1-13.
3. J. Dziok and H. M. Srivastava, Some subclasses of analytic functions with fixed argument of coefficients associated with the generalized hypergeometric function, *Adv. Stud. Contemp. Math.*, **5** (2002), 115-125.
4. J. Dziok and H. M. Srivastava, Certain subclasses of analytic functions associated with the generalized hypergeometric function, *Integral Transform. Spec. Funct.*, **14** (2003), 7-18.
5. A. Gangadharan, T. N. Shanmugam and H. M. Srivastava, Generalized hypergeometric functions associated with  $k$ -uniformly convex functions, *Comput. Math. Appl.*, **44** (2002), 1515-1526.



6. J.-L. Liu, Strongly starlike functions associated with the Dziok-Srivastava operator, *Tamkang J. Math.*, **35** (2004), 37-42.
7. J.-L. Liu and H. M. Srivastava, Classes of meromorphically multivalent functions associated with the generalized hypergeometric function, *Math. Comput. Modelling*, **38** (2004), 21-34.
8. H. S. Wilf, Subordinating factor sequences for convex maps of the unit circle, *Proc. Amer. Math. Soc.*, **12** (1961), 689-693.
9. D. G. Yang, Some properties of certain analytic functions, *Soochow J. Math.*, **23** (1997), 63-70.

Jin-Lin Liu  
Department of Mathematics,  
Yangzhou University,  
Yangzhou 225002, Jiangsu,  
P. R. China  
E-mail: jlliu@yzu.edu.cn